Review Questions for Skeletal & Muscular System:
1. In appositional growth of cartilage, 
A. chondroblasts within the tissue proliferate and add more matrix from the inside.
B. new chondrocytes and new matrix are added on the outside of the tissue.
C. osteoblasts replace the chondroblasts.
D. the tissue becomes vascularized in order to grow.
E. the cartilage is replaced with another kind of connective tissue.

2. Collagen and calcium hydroxyapatite are the primary constituents of 
A. bone matrix.
B. hyaline cartilage.
C. fibrous cartilage.
D. ligaments.
E. blood.

3. The cell type that is responsible for maintaining bone once it has been formed is the 
A. osteoclast.
B. osteoblast.
C. chondrocyte.
D. osteocyte.
E. chondroblast.

4. Which of the following is associated with osteoclast resorption of bone? 
A. Hydrogen ions form an acid environment in bone matrix.
B. Osteoblasts form collagen and proteoglycans.
C. The protein components of bone matrix are synthesized.
D. Ca++ is actively transported from blood to bone matrix.
E. Blood calcium is decreased.
5. Arrange the following events in endochondral ossification in proper sequence: 
(1) Cartilage matrix is calcified and chondrocytes die.
(2) Chondrocytes hypertrophy.
(3) Cartilage model is formed.
(4) Osteoblasts deposit bone on the surface of the calcified cartilage called the primary ossification center.
(5) Blood vessels from the periosteum invade calcified cartilage bringing in osteoblasts and osteoclasts. 
A. 3, 2, 1, 5, 4
B. 3, 2, 5, 4, 1
C. 3, 2, 5, 1, 4
D. 3, 5, 2, 4, 1
E. 1, 3, 4, 5, 2

 

6. Which of the following is NOT a function of skeletal muscle? 
A. body movement
B. maintenance of posture
C. respiration
D. constriction of organs
E. production of heat

7. Which of the following is true? 
A. Skeletal muscle is capable of spontaneous contraction.
B. Smooth muscle is found in the walls of hollow organs.
C. Cardiac muscle cells have multiple nuclei.
D. Smooth muscle cells are long and cylindrical.
E. There is a small amount of smooth muscle in the heart.
8. A fasciculus 
A. is a bundle of reticular fibers.
B. is surrounded by perimysium.
C. is only found in smooth muscle.
D. possesses an external lamina.
E. is a bundle of collagen fibers.

9. Which of the following statements regarding the sliding filament model is false? 
A. Actin and myosin do not shorten during contraction.
B. Both actin and myosin myofilaments shorten during contraction.
C. The sarcomere shortens.
D. The I band and H zones become narrower during contraction.
E. The A band remains constant in length.

10. In excitation-contraction coupling, 
A. calcium ions must bind with myosin to expose active sites on actin.
B. myosin heads bind to exposed active sites on actin.
C. cross-bridges form between myosin heads and calcium ions.
D. movement of the troponin-tropomyosin complex causes actin myofilaments to slide.
E. ATP binds to actin myofilaments.

Answers:
1.  B

2.  A

3.  D

4.  A

5.  A
6.  D

7.  B

8.  B

9.  B

10.  B

